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Current question sets (13):

Use simple interest to find the ending balance. Redo principal for given compounding period.
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3) $19.900 at 14% for 5 vears 4y Compounded annuallv for 5 vears

Use simple interest to find the ending balance. Redo principal for given compounding period.

5) $49 800 at 9% for 3 vears 6) Redo compounded semi-annually
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3) $19,900 at 14% for 5 years
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Use simple interest to find the ending balance. Redo principal for given compoundin
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7) $12,000 at 2% compounded
annually for 7 years
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Find the total value of the investment after the time given.

/

\aé’

A= 13,0000 4003

_ |/ 02
= [a!wa—FUg /)

/

N 10:02 AM
W0 gm0 E



